
SAP ABAP table WITH_EXCL_WITHT {Assignment to Withholding Tax Type}

WITH_EXCL_WITHT

CLIENT [CLNT (3)]

APPLCLASS [CHAR (4)]

SUBCLASS [CHAR (2)]

ABADRSTRATID [CHAR (4)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

ABADRENV [CHAR (32)]

T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 WITH_EXCL_WITHT-LAND1 = T059P-LAND1 
0..N

0..N  WITH_EXCL_WITHT-WITHT = T059P-WITHT 0..N

0..N

TAPPL

APPLCLASS [CHAR (4)]

 WITH_EXCL_WITHT-APPLCLASS = TAPPL-APPLCLASS 

0..N
0..N

WITH_EXCL_STR_HD

MANDT [CLNT (3)]

APPLCLASS [CHAR (4)]

SUBCLASS [CHAR (2)]

ABADRSTRATID [CHAR (4)]

ABADRENV [CHAR (32)]

 WITH_EXCL_WITHT-ABADRENV = WITH_EXCL_STR_HD-ABADRENV 

0..N

0..N


